T2 5 | K4

I ROHE @ ADIE %

a=5, b=—4 DEE, 2(3at+4b+3(a—2b DEZXRKDHDICE?

‘ ANDEZRDDIESEINFAZEETANICUTHLSRAATD
CHELVILEDN,

2(3a+4p)+3(a—2b)=6a+8b+3a—6b
=9a+2b

BERACEDILUE, CORIC a=5, b=—4ZAL ’
CTEZROTHIT,

9a+2blc, a=5, b=—4ERATHE
9a+2bh = 9X5+2X (—4)

=45-8
=37

C@ 5%"3“ a=6, b=—2 ®Otx, 2(3a+t4b) —3(a—2b) OEZEZRD
38 v,

x=—0.7, y=1.50& %, 3(8x+t6y —4 (x+2yDEERDAES D,

aEbDhx&EylC
Bo>TERBURH
ETCKRHDZE
NTEDM,

2
=5, yz—% DELxE, 5(8x+10y —7(4xt+t6y DEEZRKRDLI N,



o

T 2 4F

1 KoHE U

N :)

#H

K4

&

a=6. b=—2 Orx,

2(3at+4b)—3(a—2b) DEHZRD I,

2(3a+4b)—3(a—2b)=2X3at+t2X4b+(—3)Xat+t (—3)X(—2hb)

ZoXUZ a= 6

S3at+t14b=3X6+14x%X(—2)

x=—0.7, y=1.50& &,

6at+t 8b— 3at 60b
6a—3at+t 8b+ 60D

3at+14b

, b=—2%fKA LT

=18—28
=—10

\

— 3 (a—2b)
=(=8)Xat+(=838)X(—2b
=—3at+6b
—3Z( ADa&E—2bD

ﬁﬁ(gb‘lj%pc‘iéuﬂﬁb\d:

D(L—o

X (—

&_ pEp = b&Dog

b) =

6b&ERDC

3(8xt6y —4x+t2y=24x+18y—4x— 8y
=20x+10y

ZoXITx=—0.7, y=1.

5% A LT

20x+t10y=20X(=0.7)+10X1.5
=—14+15

5

2
. =3, Y= DL x,

1

3(8x+6y —4(x+2y DEERDZRE W,

5(8x+10y —7 (4x+6y DEERD RS,

5(8x+10y—7(4x+6y)=40x+50y—28x—42y

2

oA x=7

3

6”?‘//%@ x=—3, y=4 0L X,

2
1 2x+ 8y= N\X\g

=12x+8y
)
y=—7 AL T

4 2 5
+8\X(_Z\)
1 1
=8—10
=—2
(2x*+ 3y —
i %

CDEKDI

AT D5

(x*+ 2y DEAEZRKD RSV,

(2x?*+ 3y — (x*+
=2x*+3y—x*—2y

=x?+ty
)k vie
x?+y

=(—3)*+ 4

=9+4
=13

2 y)

C, nEEN

&6, fKlC

ZBE8ICTDE, EIC

HETEFELENA,

x=—3, y=4%RALT




